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２ 関数 3 23 8y x x= − +  について 

(1) 導関数 y  を求めよ（因数分解まで行うこと）。 

    23 6 3 ( 2)y x x x x = − = −  

 

    起点： 1x =  より y = 3 6 3 0− = −    

 

(2) 増減表を完成せよ。              ※省略せず、例題に従い作成する 

     

 

 

 

 

 

 

 

 

0x =  のとき y = 0 0 8 8− + =  

2x =  のとき y = 8 12 8 4− + =  

 

(3) グラフを描け。                 【解答】 

                          (1) 3 ( 2)y x x = −  

                          (2) 左から順に 

１行目 0, 2  

                          ２行目 , ,+ − +  

                          ３行目 

, 8 ( ), , 4( ),極大 極小  

                          (3)  
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